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= 61,600
& 9,240
= 17,160
01 Al& b 88,000 0 88,000
Ootlssgs AURMESY &M £ DAX H
HAFY 88,000
= 61,600
=} 9,240
= 17,160
2 XNE25 M E4+AH(ol=52 oA SHF) 50,000 0 50,000
= 35,000
= 5,250
= 9,750
401 AlEHIZL 2 0HY| 50,000 0 50,000
= 35,000
& 5,250
= 9,750
01 Al&H| 50,000 0 50,000
Oolssg olad A L OAE B=3A 50,000
= 35,000
& 5,250
= 9,750
223 E4&Hb(ol=ss8 25) 10,000 0 10,000
= 7,000
o= 1,050
= 1,950
401 Al HI L 2 0HHI 10,000 0 10,000
= 7,000
o 1,050
= 1,950
01 Al&H| 10,000 0 10,000
Dolssg AUR BELXESAY 10,000
= 7,000
& 1,050
o 1,950
2 XNYE28 M ELAH(ols 22s 25) 4,000 0 4,000
= 2,800
& 420
= 780
401 AlEHIZ 2 0HY| 4,000 0 4,000
= 2,800




fAM: 2=
M 2N
& 23 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 420
s 780
01 A& HI 4,000 0 4,000
05t =Xcl 2Ls E=XZ ALY 4,000
= 2,800
< 420
[ia 780
FIXNE 23 M E+FH (M2 HAEH Fdl) 70,000 0 70,000
= 49,000
= 7,350
i 13,650
401 AIEHI L 201 70,000 0 70,000
= 49,000
< 7,350
[ia 13,650
01 A& Bl 70,000 0 70,000
0 ots AAHAM JAZEAMEH EFEH A 70,000
= 49,000
< 7,350
e 13,650
2OINHSS 2SO (HHAUSE Fe BH2L 300,000 0 300,000
B2
= 210,000
= 31,500
[ia 58,500
401 AIEHI L 20 14,000 0 14,000
= 9,800
< 1,470
[ia 2,730
02 2eltl 14,000 0 14,000
0 ot HWAHA THEX =8 42 EFHl &
cley 14,000
= 9,800
< 1,470
[ia 2,730
402 RI2HXt20l 286,000 0 286,000
2 200,200
< 30,030
s 55,770
02 2IZt 2 AL EZ (01X TH ) 286,000 0 286,000
035 MAUA HSE F# HE2 SLHYD
At 286,000
= 200,200
< 30,030
[ia 55,770
2NHNE 2 EHH (BAAMUHESE =8 A= 250,000 0 250,000
R RS
= 175,000




EX: S3Hs
M 25
el 23 22l CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 26,250
= 48,750
401 AlEHIZL £ 0HY| 8,000 0 8,000
= 5,600
&< 840
= 1,560
02 22ldl 8,000 0 8,000
0 ols MAA U8 =Y otz ldEs 2
A R=ge] 8,000
= 5,600
& 840
= 1,560
402 SI2F X201 & 242,000 0 242,000
= 169,400
= 25,410
= 47,190
02 CIZEXIEAIS X (0| XM THL) 242,000 242,000
0 ols MAAI IS8 =8 ot E HdMESEZ2
A 242,000
= 169,400
= 25,410
= 47,190
228 E4LAH(ot=sDA4 HH|) 60,000 0 60,000
= 42,000
& 6,300
= 11,700
401 AlEHIZL 2 0HY| 60,000 0 60,000
= 42,000
& 6,300
= 11,700
01 Al&H| 60,000 0 60,000
OotsAad &8 Z Ul S A 60,000
= 42,000
o 6,300
= 11,700
Z2IIXNE 23 M EXEHH(otSSH L=2XAH) 188,000 0 188,000
= 131,600
=} 19,740
= 36,660
401 Al HI L 2 0HHI 188,000 0 188,000
= 131,600
= 19,740
= 36,660
01 Al& H| 188,000 0 188,000
DolssS4d 2 L2XA 188,000
= 131,600
& 19,740
= 36,660




2N 2HMSH
N s 25 243
el d2Hs 245

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

e &8s 243 6,392,377 3,969,371 2,423,006

Fag 1,900,000

J| 181,842

== 19,739

= 4,290,796
HEMS 2435 1,365,800 1,373,580 ANT,780
g & dXN=2E KA 62,400 61,800 600
201 et | 6,400 6,400 0
01 AP 2t 2| H| 6,400 6,400 0

0 Lbet==H| 6,400

o MNREEE P 250,000 = 12&€ 3,000

o MMAZE 2 500,000 * 53| 2,500

o EYE L Q] 60,000& = 1504 900
203 €2 F&d| 6,000 5,400 600
03 AIZH =& 2 F XY 6,000 5,400 600

08Xl & e sxdl 6,000
307 2Iz2t0| & 50,000 50,000 0
02 QIZEEAAIRE E X 50,000 50,000 0

0 &8=2,CU3 EIJIHH & X8 X 50,000
sls2M=3 X 214,180 214,180 0
307 2iz2tol A 214,180 214,180 0
02 QI AAIE E X 52,100 52,100 0

0 IS 4 XA 52,100
03 AU EESAHES 162,080 162,080 0

OotszZd=E3 29H BX 162,080
s 29X& 15,320 20,600 N5,280
201 gBt24 | 7,400 7,400 0
01 AP 22| H| 6,400 6,400 0

0 2bet2H| 6,000

o MMAZE 2 500,000& * 63| 3,000

o ANREE F¢ 300,000& = 103l 3,000

oHAZ 2 U= 400
02 2%l 1,000 1,000 0]

0 A& Z&HH| & Xl I 1,000
202 04| 7,920 13,200 N5,280
01 2L HI 7,920 13,200 N5,280

0 2tLH 4 Yl 170,000€ * 3¥H x 128 6,120

0 2204 d| 50,000& = 3% 128 1,800
stNHE 4 184,000 182,000 2,000
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fAM: 2=
FM: H=E s g4s
?e: d2HE 245 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
0 BEHZAMSUE BH K& 8,000
oM =sHa XA 10,000 10,000 0
307 2I2t0l & 10,000 10,000 0
02 RIZFEA MM E X 10,000 10,000 0
0 HOHOIM=CHa &Hl K& 10,000
=He MEH=sUE X2 236,900 108,000 128,900
307 glz2tol & 236,900 108,000 128,900
02 LAFAAFEX 236,900 108,000 128,900
0 M5t ZQIMEH S 128,900
0 ZCe MEMSUHI X 108,000
=0A=FE AEEeCD N 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
082 NEF & U A& 30,000
d8% Z220etENHS XA 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 QIZFHALAIH B & 40,000 40,000 0
0 4% ZA0tetEUE K& 40,000
ctsz=tf d=2R4HE FA2U 50,000 50,000 0
307 gl2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
0 M43l cstsZ2=t 83RAE SRUE 50,000
M2zl sts2+=t R=CHal 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
0 H2al sts=Z=tf R=3l 20,000
MEH s 2435 553,857 534,791 19,066
| 181,842
< 19,739
[ia 352,276
MEHsEZZIH 29 16,128 16,128 0
< 4,839
i 11,289
307 21201 A 16,128 16,128 0
< 4,839
e 11,289
04 QIZFHALAIH B = 16,128 16,128 0
O MExs Z20d8 24 16,128
< 4,839
s 11,289
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X ZH -
L= B

el

Off &t 24

=

i
2m

Jl

M

182,448

80,424
102,024

175,

248

307 21201 &

Jl

M

182,448

80,424
102,024

175,

248

7,200

Il

M

182,448

182,448

80,424
102,024

175,

248

7,200

H X

182,448

80,424
102,024

175,

248

7,200

307 21201 A

X

182,448

80,424
102,024

175,

248

7,200

o
0
T
>
=
fo

)

ot MEH S X=X BIXIAIS (6Y)

M

182,448
182,448

80,424
102,024

175,

248

7,200

VY

12,096

3,628
8,468

,096

307 glztol &

M

12,096

3,628
8,468

,096

o
=~
e
i
02
=
=
QR
H
P

(]
0z
i
é
10
El
Iz
Ho
02

UL

12,096
12,096

3,628
8,468

,096

AH

MEHEUE |4

UL

8,000

4,000
4,000

,000

307 21201 &

EUNL

8,000

4,000
4,000

,000

o
~
e
S
02
>
>
Q
HT
P

O
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I
>
0z
nfor
é
Ho
Ho
0x

EUNY

8,000
8,000

4,000
4,000

,000

Hel
[
o
B
=
00
i
=
114

S

M H

29,991
20,994
2,699
6,298

26,

137

3,854

29,991
20,994

26,

137

3,854




2N

HH: s 235 243
e MEHs 243 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 2,699

= 6,298
01 Al B & A 462 29,991 26,137 3,854

0 A 2% 0|22 ML (HSHSHAY) 29,991

J| 20,994

= 2,699

= 6,298
20 M=ES0lel XEAY 9,146 8,334 812

=} 4,573

= 4,573
307 QI2t0| ™ 9,146 8,334 812

=} 4,573

= 4,573
02 QI2tAMAIE E X 9,146 8,334 812

0 ZOHQ! HEs=S0te] NIAS (BIHA) 9,146

& 4,573

= 4,573
HOIE=ZSE 23| 15,600 15,600 0
307 2Iz2t0| A 15,600 15,600 0
03 QIZI X HAESHHIEX 15,600 15,600 0

0 HOIEESZ 29| 15,600
ASsEHMEHFUI AZH 7,000 7,000 0
307 2iztol A 7,000 7,000 0
04 QIZ2tSHALALS B = 7,000 7,000 0

095y MEN=E HalHH 7,000
IR MEEEsEXHY| 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 CIZ2tSHAFALS B = 5,000 5,000 0

0 20 XMEsgs 23| 5,000
HOIE=2Us &&8EH 22X 6,000 6,000 0
307 212t0| & 6,000 6,000 0
04 SIZ2HSHAAISHE E X 6,000 6,000 0

0 HOIEE ¥ Oct2Ee2Zs &=&8AHH 6,000
M s 243 NS 15,000 15,000 0
307 2Iz2t0| & 15,000 15,000 0
04 SIZ2ISHAAIH E & 15,000 15,000 0

0O MENs 243X 15,000
et 22 294| 5,000 5,000 0
307 gizto| & 5,000 5,000 0
03 I HEHESIEHIEX 5,000 5,000 0




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 c2E =ZF 2d4l 5,000
Stsx HOIE=S HEgs MRa 23| 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
03 BIAtHMHE2IHIEE 5,000 5,000 0
0Ocots= HOIEESXHEE AIRA 2| 5,000
OlA28I17 XA 40,000 40,000 0
401 AIEHI L 201 40,000 40,000 0
01 A& HI 40,000 40,000 0
0 OreI2sJ1+ &XAY 40,000
goliet =52 MEHSUE UM 10,000 10,000 0
307 2201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
02019 ot =2 MEHMSUE HEH 10,000
m3I==F 244l 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
03 BIAHNHE2IHIEE 5,000 5,000 0
0 M2==d 29l 5,000
MEMSANE &5 4,472,720 2,061,000 2,411,720
s 1,900,000
[ia 2,572,720
StSAEZENMAIHEAMY 2,897,720 1,900,000 997,720
s 1,100,000
e 1,797,720
401 Al HIZ 201 8] 2,897,720 1,900,000 997,720
as 1,100,000
e 1,797,720
01 A& HI 2,893,520 1,895,800 997,720
0Oots AX=0t3 =4 2,893,520
s 1,100,000
s 1,793,520
03 Al 2 THHI 4,200 4,200 0
0ots AZ=T3 =4 AIE4=20UYl 4,200
SHUETNSISE AMEHLAY 125,000 151,000 A 26,000
401 A& HIZ 201 Y] 125,000 151,000 A 26,000
01 A& HI 125,000 150,000 A 25,000
0 MEHMSZSE AMEHLAS 125,000
SHE=SsY HLEUSHANSS ASHAMS 450,000 0 450,000
401 A& HIZ 201 8] 450,000 0 450,000
01 A& HI 450,000 0 450,000
0 SHZSE W HLE UsSH s A8AY 450,000




2N 2HMSH

M S 25 243

o dEXMSAE 2 (22 &d)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
ols AZXTH3 ZEAMY ALEAP2EH 200,000 0 200,000
401 AIEHIZ 2 0HHI 200,000 0 200,000
02 el 200,000 0 200,000
OOtSAE=MIA ZLEAMY HEAMZ22ES 200,000
22 HEMSSE 78 ZdAY 400,000 0 400,000
= 400,000
401 AIEHIZ 2 CHHI 400,000 0 400,000
= 400,000
01 AlZHI 400,000 0 400,000
0 22 HENS3E k7T ZgAMY 400,000
= 400,000
SE HUAY ZEAME 400,000 0 400,000
= 400,000
401 AIEHIZ S CHYI 400,000 0 400,000
= 400,000
01 Al&HI 400,000 0 400,000
0 SSHLULAZE ZdAY 400,000
= 400,000
SN2 2 415,072 403,661 11,41
StNESF A2 415,072 403,661 11,41
olg=x 2sta 29 60,000 70,000 210,000
307 212t0l & 50,000 50,000 0
05 It E = 50,000 50,000 0
00lg= 2t /5 29 50,000
401 AIEHIZ 2 I 10,000 20,000 210,000
01 Al&H 10,000 20,000 10,000
008 2st& NE 2 S 10,000
o 03 WA 10,000
S3ANE 2el2E 141,222 139,991 1,231
101 124 4] 51,972 49,941 2,031
04 D12 H22 TS 2=+ 51,972 49,941 2,031
0 2stoil=sl2 HA L A2 A2(2Y) 51,972
o JlZga 66,8008 * 2F = 248« 33,133
o Fi=xg 66,800% * 28 * 52¢ 6,948
o ANRSELs-E 66,8008 28 ~ 114 1,470
o FE+Y 66,8002 = 1.5 » 2&H = 52& 10,421
201 Yete | 88,250 88,250 0
01 At 22l bl 20,000 20,000 0
0 === Hl 20,000
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AN 23HSD
g MSAE2e

oo HSALE 22 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HMEAEE SFA22 1,717,621 1,396,581 321,040
HEsAd22 29 424,799 376,687 48,112
101 2124 d| 45,559 41,447 4,112
04 JIZtHIZ2E2XNESE 45,559 41,447 4,112
0 MEsAd A0 41,551
o Jl23 66,8003 * 29 x 248 33,133
o =AY 66,800 x 2% x 52 6,948
o EXR3IEL+Y 66,8008 * 29 « 11 1,470
0 SSHESAME HE=&Y 22
66,800 * 2% = 30 4,008
201 LEt2AY| 162,600 162,600 0
01 AFR2t2l bl 9,000 9,000 0
0 detx2d|(otSHS22 3HAIA) 6,000
o ADE FA(EX, HF S) 4,000
o HAZE R2U(65) 2,000
08D & Xz 3,000
02 33294l 153,600 153,600 0
0 2222 ¢ HMA(ctsMS22 3M Al&) 105,600
o M3 72,000
o Motl=ER3 24,000
o SN2 1,200
o ANEZ2 SZINEREY= 8,400
0 A& &HIs Xl 48,000
o ANEE(HE, &), a8 &) 24,000
o M|, Adt2e & =42 24,000
202 (4] 2,640 2,640 0
01 = LH 4 B 2,640 2,640 0
0 2oyl 2,640
o ZU oY 170,000 + 198 » 12& 2,040
o 22|04 H| 50,000& » 1 » 12& 600
207 A IR H] 22,000 0 22,000
01 A2 sS<H| 22,000 0 22,000
0 SSHFAE Y H HLEEA
22,000,000& = 14 22,000
401 Al HI YL 2 0HHI 192,000 170,000 22,000
01 A& HI 192,000 170,000 22,000
0 AL RE A2 100,000
0 HSAES S8 ARF2AIE HE=(4MA) 50,000
O olSSE2SE AIdE FLUotd A 22,000
OotsaUMES2 =5 a2 A
10,000,000& = 2CH 20,000




AN 23HSD
I MEAE2e

©9: HSALE R (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MEAIE HE > 22,000 0 22,000

401 Al HI L 20 HI 22,000 0 22,000
01 A& HI 22,000 0 22,000
0O StsSaUNE2 XY 89 22,000
MEH=SH 222 157,568 202,220 N44 652
101 @121l 76,568 86,220 N9,652
04 JI2ZtH22XNHEE =+ 76,568 86,220 AN9,652
028 USHMEHsSEHH 27,289
o JlEgza 66,8003 * 18 » 2482 16,567
o UL 66,800& * 1H x 52 3,474
o ARz < 66,800& + 18 » 11 735
o 522
66,800& * 1.5 x 1 » 65 6,513
0 &8 oicie] MEy =2 22,279
o JlE2za 66,800 * 18 » 248 16,567
o FTHEULH 66,800 * 1 x 52 3,474
o AXRzazxY 66,800& + 18 » 11 735
o F2fd
66,800& * 1.5 » 1Y » 15 1,503
020 MszZa MEoRY =
1,500,000& = 64 = 33| 27,000
201 LEt2 Y| 41,000 37,000 4,000
02 35244l 41,000 37,000 4,000
02 USHEMEISEHH 222= 2 HA 25,000
0 DMMENSSE 5322 & MAl 4,000
0 dxMexssd 3522 ¥ MA 4,000
0 JWOIteIME3d 3323 € HA 4,000
0 F2MEXNSSE 3522 € MA 4,000
401 Al B 20 HI 40,000 79,000 A 39,000
01 A& HI 40,000 79,000 A 39,000
SH M3 2SAEE2> 40,000
=0HSIHAH Ald2e 29 1,113,254 817,674 295,580
101 @124 586,379 465,799 120,580
04 JI2ZtH 22 XNHEE+ 586,379 465,799 120,580
0= dA HMESAZA 2 (5H) 285,510
o Jl23 76,8203 * 53 x 248 95,257
o 52422
76,8204 * 1.5 x 58 x 121 69,715
o JlY=xg 95,257,000& = 1/3 31,753
o =Y 76,820& * 5% « 52 19,974
o EXNRSELSEY 76,8208 * 5H x 128 4,610




2N
DHSAL e

el

X ZH
S =

Z M = ot

HEALEES A 2e

SA - ZE-B(EA) - NRAY - B S il
o Al2tel=g
14,4103 = 48AI12t = 5H « 123 41,501
o g4l 7,0002 * 2041 = 5H * 123 8,400
o Ws4adl X&a
9,000& * 208 * 5% * 123 10,800
o tMIBRG 50,0003 = 53 » 123 3,000
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